39. How to use a conversion graph

8

Scenario Questions:

1. The conversion graph shows the relationship
between miles and kilometers. How many
kilometers would be equivalent to 6 miles?

2. The conversion graph shows the relationship
between miles and kilometers. How many miles
would be equivalent to 4 kilometers
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39. How to use a conversion graph

8

Scenario Questions:

3. The conversion graph shows the relationship
between gallons and litres. How many litres are
equal to 7.5 gallons?

4. The conversion graph shows the relationship
between gallons and litres. How many gallons are
equal to 27 litres?
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39. How to use a conversion graph

8

Scenario Questions:

5. The conversion graph shows the relationship
between hectares and acres. How many acres
are equivalent to 5 hectares?

6. The conversion graph shows the relationship
between hectares and acres. How many hectares
are equivalent to 20 acres?
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39. How to use a conversion graph

Scenario Questions: Answers

[ 1. The conversion graph shows the | , 12 |
relationship between miles and 10 //'
kilometers. How many kilometers Z
would be equivalent to 6 miles? S 8

| 1. Approximately 9.5 km (9.2 to 9.7) T //

o 7
r ‘ g 4 //
2. The conversion graph shows the ) v
relationship between miles and 4
kilometers. How many miles would 0
be equivalent to 4 kilometers N _ voe e
2. Approximately 2.5 miles ) § Miles )

[ 3. The conversion graph shows the | 40 |
relationship between gallons and 33 /|
litres. How many litres are equal to //

7.5 gallons? 27
| 3. Approximately 33 litres | fi)j 20 //
— /
13

[ 4. The conversion graph shows the | . A
relationship between gallons and J
litres. How many gallons are equal 0
to 27 litres? ¢ 124 s e TS

| 4. Approximately 6 gallons N Gallons ]

[ 5. The conversion graph shows the | 30 |
relationship between hectares and
acres. How many acres are &
equivalent to 5 hectares? 20

| 5. Approximately 12.5 acres . 8 s
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6. The conversion graph shows the
relationship between hectares and °
acres. How many hectares are 0
equivalent to 20 acres? 0123456782910

| 6. Approximately 8 Hectares | Hectares )

crackmaths.co.uk



http://crackmaths.co.uk

